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Astronomy

2.3 Planetary Systems

Solar System Discoveries

Mr Fantom



Describe the contribution of Copernicus, Tycho and Kepler to our understanding of the Solar System
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b) lllustrate Kepler’s second law of planetary motion with the aid of a diagram
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llustration of Kepler’s second law of motion
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c) Demonstrate an understanding of Kepler’s third law relating planetary distances to orbital periods
and perform simple calculations using the formula: T = R> where

T is in years and R is in AU. /

An ellipse \
Draw and label the major axis and minor axis on the ellipse.

Explain what is meant by the semi-major axis, and label it R.

Explain, referring to the arrows already drawn on the diagram,
what the significance is of the two foci of the ellipse:_sgecsak
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Calculate the orbital period of Mars, which has a semi- Calculate the orbital period of Jupiter, which has a semi

major axis of length 1.52366231 AU. -major axis of length 5.20336301 AU.
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Calculate the semi-major axis of Neptune, which has  Calculate the semi-major axis of Nepttne, which has an
an orbital period of 164.8 Earth-years. orbital period of 76 Earth-years.
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d) Recall the main astronomical discoveries of Galileo related to the Solar System:
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e) Describe the discoveries of Ceres, Uranus, Neptune and Pluto and the techniques involved
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Demonstrate an understanding that gravity is the force responsible for maintaining orbits and its inverse
square law nature.

Explain, using the idea of surface area of a sphere, how the effect of gravity behaves as
the distance between two point sources of mass increases:__ 74 gr—whunt foetod
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Explain how the attractive nature of gravity causes an orbit to be maintained:
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